
First Angle Projection

Columbus McKinnon
Industrial Products GmbH
Yale-Allee 30
42329 Wuppertal / Germany

45

m
in

. 6
40

47

28
4,

5

20,5

22
0

250

35
2,

5

24
2,

50

A A

26

19

25

14
33

45

44

39

EE

F

F
G

G

27

42

95

76

109

B

B

C

C

D

D

16

15
17

18

B-B

11

13

C-C

12

30

38

2021

D-D

910

8 22

E-E  (1 : 1)

A-A (1 : 1)

2

32 3

4

37 640

5

1

32

36

43 2931

41

28

7

F-F  (1 : 1)

2435

G-G  (1 : 1)

2334

APPLY GREASE GLEITMO 805k OR 
EQUIVALENT TO GEARS, SHAFT, BUSHINGS, 
BRAKE THREAD AND PAWLS. DO NOT 
CONTERMINATE BRAKE LINING WITH 
GREASE

POS-NR. BENENNUNG BESCHREIBUNG Standard
/MENGE

1 00401270 Seitenplatte, kpl. 1
2 00400957 Seitenplatte GS, kpl. 1
3 00401266 Lastkettenrad, kpl. 1

4 00401260 Antriebswelle 1
5 00401831 Druckscheibe 1
6 00401830 Sperradscheibe 1
7 00401357 Handrad, Fertigteil schwarz 1

8 00400456 Zahnrad Z4 1
9 00400475 Zahnrad, kpl. (A) 1
10 00400476 Zahnrad, kpl. (B) 1
11 00400453 Kettenführung 1
12 00401252 Sperrhaken 2

13 00400465 Streifer 1
14 00400470 Halteblech 1
15 00401349 Handraddeckel, kpl. 1
16 00400468 Führung 1
17 00400641 Getriebedeckel, kpl. 1
18 00400472 Blende , kpl. 2
19 00400512 Traghaken kpl. 1
20 00400481 Kettenendbefestigung 1
21 00400505 Kettenbefestigung 1
22 00400514 Tragbolzen 1

23 00400484 Kettenbolzen 1
24 00400503 Bolzen für Kettenbefestigung 1
25 00400499 Unterflasche kpl. 1
26 00401338 Kappe, Yale 1
27 00400544 Typenschild 1

28 00404732 Friktionsscheibe 2
29 00401261 Anschlagring 2

30 00401264 Feder 2
31 00401255 Scheibe 23x50x2,5 1
32 09151121 Rillenkugellager 6009-2RS NR 2

33 09108020 Halbrundschraube mit Innensechskant M10x20 8
34 09134033 Spannstift DIN EN ISO 8752 - 3x24 - St 1
35 09134111 Spannstift DIN EN ISO 8752 - 3x28 - St 1

36 09117057 Kronenmutter M12 1
37 09129024 Sicherungsring DIN 471 - 18 x 1,2 1
38 09129038 Sicherungsring DIN 471 - 12 x 1 2
39 09102199 Zylinderschraube DIN EN ISO 4762 - M5x16 - 8.8 3

40 09121010 Scheibe DIN EN ISO 7090 - 13 - 200HV 1
41 09125042 Splint DIN EN ISO 1234 - 3,2x25 - St 1

42 09126072 Blindniet DIN 7337 - 3 x 4,5 4
43 09156039 Zylinderrolle  DIN 5402-4 x 6 48
44 04307654-4 Handkette 5 x 26 ; gal.zn ; 5,0m 1
45 00404733 Verbindungsglied 5 x 26 1

12

H

G

F

E

D

C

B

A

J

K

L

M

N

P

Q

R

A

B

C

D

E

F

G

H

J

K

L

M

N

P

Q

1110987654321 13 14 15 16 17 18 19 20 21 22 23 24

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

Columbus McKinnon
Industrial Products GmbH
Wuppertal / Germany
C

ol
um

bu
s M

cK
in

no
n 

In
du

st
ria

l P
ro

du
ct

s G
m

bH
 c

la
im

s p
ro

pr
ie

ta
ry

 ri
gh

ts
 in

 th
e 

m
at

er
ia

l d
isc

lo
se

d 
he

re
on

. T
hi

s d
ra

w
in

g 
an

d/
or

 te
ch

ni
ca

l in
fo

rm
at

io
n 

is 
iss

ue
d 

in
 c

on
fid

en
ce

fo
r e

ng
in

ee
rin

g 
in

fo
rm

at
io

n 
on

ly
 a

nd
 m

ay
 n

ot
 b

e 
re

pr
od

uc
ed

 o
r u

se
d 

to
 m

an
uf

ac
tu

re
 a

ny
th

in
g 

sh
ow

n 
or

 re
fe

rre
d 

to
 h

er
eo

n 
w

ith
ou

t d
ire

ct
 p

er
m

iss
io

n
fro

m
 Y

al
e 

to
 th

e 
us

er
. T

hi
s d

ra
w

in
g 

an
d/

or
 te

ch
ni

ca
l in

fo
rm

at
io

n 
is 

lo
an

ed
 fo

r m
ut

ua
l a

ss
ist

an
ce

 a
nd

 is
 su

bj
ec

t t
o 

re
ca

ll b
y 

Ya
le

 a
t a

ny
 ti

m
e.

Th
is 

dr
aw

in
g 

an
d/

or
 te

ch
ni

ca
l in

fo
rm

at
io

n 
is 

th
e 

pr
op

er
ty

 o
f Y

al
e.

N
O

TIC
E 

TO
 P

ER
SO

N
S 

RE
C

EI
V

IN
G

 T
HI

S 
D

RA
W

IN
G

 A
N

D
/O

R 
TE

C
HN

IC
A

L 
IN

FO
RM

A
TIO

N

By

17.12.2015
23.06.2010

AB
AA3983

CNHWU01.02.2016bearing and rolles to actual stateAC
4197
4229

Description of changeRev. DateECN

cost reduction
Add Lub.

CNHWU
KON10

Modeled:
Drawn:
Approved:
Design Authority:
Original project:
Original scale: 1:2

Material:

General Tolerances
ISO 2768-mk

Dimensional Units
mm

Description:

Number: Sheet
1 
      1

Format

A0

                                                                             

07/17/2009
07/17/2009

Velbert

kon10
kon10 YaleLift 360 III 5,0t   

Hand chain hoist 5000/2
Flaschenzug 5000/2 - VG

04700068

Standard:
Material No:

Specified Tolerances
ISO 8015

Edges According to
DIN 6784


	Blatt1
	Zeichenansicht1
	Zeichenansicht6
	Zeichenansicht7
	Schnittansicht B-B
	Schnittansicht C-C
	Schnittansicht D-D
	Schnittansicht E-E
	Schnittansicht A-A
	Schnittansicht F-F
	Schnittansicht G-G


